
C1

C1 is ________ than 15 age.

Answer: ___________________

C1 is ________ in temperature than 15 age.

Answer: ___________________

C1 has ________ rain than 15 age.

Answer: ___________________

C1 has ________ sunshine than 15 age.

Answer: ___________________

C1 has ________ humidity than 15 age.

Answer: ___________________

C1 has ________ wind than 15 age.

Answer: ___________________

C1 has ________ storms than 15 age.

Answer: ___________________

C1 has ________ snow than 15 age.

Answer: ___________________

C1 has ________ fog than 15 age.

Answer: ___________________

C1 has ________ hail than 15 age.

Answer: ___________________



Answers

C1 is ________ than 15 age.

Answer: warmer

C1 is ________ in temperature than 15 age.

Answer: higher

C1 has ________ rain than 15 age.

Answer: less

C1 has ________ sunshine than 15 age.

Answer: more

C1 has ________ humidity than 15 age.

Answer: lower

C1 has ________ wind than 15 age.

Answer: stronger

C1 has ________ storms than 15 age.

Answer: fewer

C1 has ________ snow than 15 age.

Answer: less

C1 has ________ fog than 15 age.

Answer: less

C1 has ________ hail than 15 age.

Answer: less


